
17A 178 17C 170 17E

1) done 1) (10)+(9)=(19~; 18~ 1) (5) + (8) = (13); 12~ 1) 51- 1) 1£

(3) + (3) = (6); 5 i 7 5
2)

(8) + (4) = (1.2); 11~_ (4) + (4) = (8); 7 % 31. 1O!i2) 2) 2) 2)

(7)+(9)=(16); 16~
4 9

3)
(7) + (4) = (11~; 11% (8) + (6) = (14); 13% 91- 31.3) 3) 3) 3)

(2) + (2) = (4); 3%
5 6

4)
(6) + (4) = (102; 9l (2) + (6) = (8); 8 1~ JJ!. ~4) 4) 4)

5
4)

2
5) (4) + (9) = (13); 12 ~

(2) + (5) = (7); 6';:' (9)+(1)=(10); 10t
(As you may have dis-

265) 5) covered, a shortcut is to 5)
4

6) (7) + (7) = (14); 13% think, "5 x 3 = 15 and
6) (10) + (4) = (11); 13~ 6) (6) + (3) = (9); 9~ 15 + 4 = 19, so 19/15") 6) 43

7) done 33 8
5)

7) (3) - (1) = (2); 1~ 7) (13) - (4) = (9); 8..6.. 8
7) 1

8) (7) - (3) = (4); 3% 7 35 510
6)

8) (9) - (6) = (3); 2t 8) (8) - (5) = (3); 3i
6

8) 61.
9) (11)-(10)=(1); 1i 21. 9

7)
9) (6) - (4) = (2); 1i- 9) (15) - (9) = (6); 5% 9

9) 31.
10) (9) - (5) = (4); 4% Remember that a fraction 5

is also a division problem.

11) (6) - (4) = (2); 2± 10) (5) - (3) = (2j; 1.1- 10) (2) - (1) = (1); 1~1 Dividing and writing the 10) 11
7 answer with a fractional 4

(4) - (3) = (1); 1~
11) (10) - (8) = (21; 2i _ 11) (8) - (3) = (5); 43 remainder produces a 11) 4 x 4 x 4 = 64 cu. in.

12) mixed number. 12) 15 x 15 x 15 = 3,375 cu. ft.

12) (17) - (8) = (9); 8~, 12) (16) - (9) = (7); 6~ 8) 41- 13) 30 x 30 x 30 = 27,000 cu. ft.
5

1 1 2 4L -1..1.. = 32- 14) 1 x 1 x 1 = 1 cu. ft.
13) 2"3+1"3= 3"3- 13) 9) 11.

15)10 10 10 8 25:.2,25

14) 41.- 31. = 1£ Ibs 14) 11+1£= 21 mi 10) done 30:2,3,.2,6,10,15,30
5 5 5 ~ 8 8 8 . 11) 20 x 20 x 20 = 8,000 cu. ft. GCF=5

12) 12 x 12 x 12 = 1,728 cu. ft.
13) 10 x 10 x 10 = 1,000 cu. ft. 16) 41.+3£= 71 tons

4 4 4
14) 7%- 33= 43 mi.

17) 1+£=1.=1 (f)
3 3 3 0

15) 2x3x5x5
1+%=1t yds.

c-16) 4x4=16 o·
17) 9 x 10 = 90 sq. ft. ::J

.1 xl =..1.. =..6.. C/l

90 < 100; yes 18)
5 2 10 5 ~

18) 1/6 x 18 = 3 »
~m


